A’Z—{:i *l ARy Ui Lag & e
EXERCISE 4
[] 'Y
® by ¢
) y ¥
b= [xy 8 VIV
= 0 f ) 1 (
X - LWy i 7,3 i’




exeease

SSexp - 30 T ;.

e R T -

= 0.6%6

&) m = .
Riy-u SS7 50+60 ho

b . ——— bewvie X, avd X2 Jon't wrelate
) Ssexp {30-505 20

SSets * SSr- SSexp - MO -20 = 90

C) vl o E - fi “-rf L ] r -
fyas = 0454 vz ) pgsa = 6,634

7:1‘12 . D .58 > M4y -t

1o

)

|- RY.12= A-0.6%* 0-36Y

X




EXERCISE 3

5\') L 1 -é L
Reg(12): Bhpe= (= 0.84a- 0 .843= 0.006
S.«mr-’ fe o Ry {12) = 1:57)06 ‘“0 0’3 ¥o, b ey negahve
L {}ﬁ\i {231“5_6; ; Qkf (2. !) & ﬁ?\_{ 12- r";“l P 0 sﬁ"‘l{'ﬁ" 0 2 lf 0. 042.
31} -011% 25888 T F. it le Fo
1 il Ry (2.4) = 109! ‘f.@.“
“ a h p-u-&’ifgz,f £ £a
(2 =015)*- 0839
(4= (L0a18) = 0.8 o e = 4 i
A ' P o—— 2 T :
\ tolorance 0.04%

R:y2 = 0. 944

ollor

}9} = I,--"?:\}
TOLERANCE = 4'\@5/" correla hon aj fro wrinble of il o cn

r'ﬂ.o!_af endend varablaes.

0'0ML = 4- P‘l‘[?_
5=} = '_"Qz;?,

5 lp{l ok Tepet D.QSQ"- 0.93%
’PDT‘IH'\JQ jtg'y\ becoun f€ ‘:zr}%-{/\. bra/ic.;’;{_ﬂ':)

f'-}‘{?}u.za} O V“Q—‘SC“HWT fi"‘i,caé'\'ma.}iuis:s
with 7




EXCRUSE ‘?]

» No lecause  si9g. > x

0,834 06S

b. No L}ea‘”"\-ﬁf 'S'-‘"'a >

o

0.569 0.0

) Ves becaupe 1n lackor 1 xGewdes, o Greenbouse ~Geisser, sig L &

£ 6.000] 0.0

o) 3 becouse e dacirﬁe! U{ Peez‘wm i vl_ac!fm ki SFhuicil\d Asynead , 35

2= k"’1; %’\% le 'Hﬂ-ﬁ W boer ‘:’; Q@‘o”fs of  (mdi hous ‘ varmbyes 05}

O\A-HMM -}«d pes f‘J words ia Hall case j




